Knowledge catcher: Plant reproduction

A class are growing cress from seeds in their classroom. Each table has their own
set of seeds. The height of the shoots has been recorded after five days of growth.

Table Height of cress (mm)
1 51
2 46
3 15
T 4 60

What do the plants need to grow healthily?

2 Name the stage of the plant life cycle where the shoots begin to grow from
the seed.

3 Table T’s cress is more yellow in colour than the other tables. What might be
the cause?

Which table’s cress grew the least? Why might this have happened?
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